Monday 6th July 2020

Speedy Maths


	BRONZE
	Your working out: 

	1)
	405 – 32.5 =
	
	

	2)
	5868 ÷ 12 =
	
	

	3)
	10³ - 350 =
	
	

	4)
	11.562 + 0.72 =
	
	

	5)
	35% of 600 =
	
	

	SILVER
	

	1)
	42.76 x 7 =
	
	

	2)
	8 ÷ 10 = 
	
	

	3)
	[bookmark: _GoBack]3/10 + 4/5 =
	
	

	4)
	XXV = 
	
	

	5)
	11% of 56 =
	
	

	GOLD
	

	1)
	A rectangular garden has an area of 42m². 
The width is 4m. What is the length? 
	
	

	2)
	What is the perimeter of the above garden?

	
	

	3)
	8c + 24 = 104 
What is the value of c?

	
	

	4)
	Convert 17:45 into a 12-hour format: 

	
	

	5)
	What is 3/5 as a percentage?  
	
	




Bronze =	 	/5
Silver = 		/5
Gold = 		/5
Total = 		/15
